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124%00000000000000000000000000

080000000000 000D00O000ON0ONDO0NOONT0O00
D00+0000000000000N =16000000000000000
D0000000000000000000000000000 610000
D00000000000000000000000000000000000
N=9600000000000000000000000000000000
00000000000 000000000000000000000000
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0000000000000000
00000000000000000110000000000000000
000000000000000000000
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000000000000 00000000000000000000000
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08 NOOOOOOOOOOOOOO00000 (OO0O00000010)
000 000000000 000000000 0o

N Py, My, P2, Ms T # Py, My, P2, Ms T (r=T))T | (+ =T))T
1600 1,2,0,0 2.10 4.28 1,1,0,0 2.82 -0.256 0.518
3200 1,1,0,0 20.04 | 20.42 1,1,0,0 20.42 -0.019 0.000
4800 1,1,8,1 65.21 | 64.00 1,1,8,1 64.00 0.019 0.000
6400 1,3,8,1 129.23 | 126.24 1,2,8,1 125.24 0.032 0.008
8000 1,3,8,1 215.64 | 222.86 1,3,8,1 222.86 -0.032 0.000
9600 1,3,8,1 331.58 | 341.11 1,4,8,1 340.86 -0.027 0.001
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00000 @)oooo0o0O0ODOO0O0000000D0o0o0oooooooooo
goo

gobboboooobobbooogbboboooobboboooobobbod
gobbboooobbbuoooobbbuoobbboooobbbooon
gobbboooobbbuoooobbbuoobbboooobbbooon
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09 O0nOdpOon@naonon)
N-TOOOOOOO0000O0 N 0000 | 0000 [sec]

N9 | 400, 600, 800, 1200, 1600, 2400, 3200, 4800, 6400 9 22868.8
N8 | 400, 600, 800, 1200, 1600, 2400, 3200, 4800 8 10679.5
N7 | 400, 600, 800, 1200, 1600, 2400, 3200 7 4753.5
6
5

N6 | 400, 600, 800, 1200, 1600, 2400 2514.1
N5S | 400, 600, 800, 1200, 1600 1299.3

010 NOOOOOOOOOoOoOoO0000000 (NSOM0)

ooo ooooooooo ooooooooo 0o

N Py, My, P2, My T # Py, My, P2, Ms T (r=T))T | (+ =T))T
1600 1,1,0,0 2.83 2.82 1,1,0,0 2.82 0.002 0.000
3200 1,1,0,0 20.77 | 20.42 1,1,0,0 20.42 0.017 0.000
4800 1,4,8,1 57.31 | 68.73 1,1,8,1 64.00 -0.105 0.074
6400 1,4,8,1 110.17 | 128.04 1,2,8,1 125.24 -0.120 0.022
8000 1,3,8,1 187.68 | 222.86 1,3,8,1 222.86 -0.158 0.000
9600 1,3,8,1 287.74 | 341.11 1,4,8,1 340.86 -0.156 0.001

1600, 2400, 3200,4800,6400 0 00 000000000000 000000000O
D000000000000 N=640000 16000000000000000
00000000000 0000000000000N-TOOOOO00000
04000000000000000000000000000000000
0000000000000 0000000000000000000000
D00000000D000D0O0S00000

09000000 NODODOOODODOODO0OOODOOO0000OND 900
D00O0O0OO0ONIOODOOOODOODO NOS00000000NDOODO
0D50000000000000 N=400024000000000000000
D000D0000SO0000000OD0OnodO
NION5SOOD0OO0OD00O0DO00NDOO00NDNONON0NDoOonoon
OD0O00O0DONSONSSOOOODOOODNOD 1000 130000N90000
D0000O070000000
0120000000000 (#-7)/7 000000000000 (r-T)/T
D000000126:)000000000000NIOOONSOODOOOO
N>32000000 74%000000000N=160000 N9OOOODOOO
51.8%0 0000000000 1.50000000N6000000000 1.2%0
NONSOOODDOOODDOOODDOO0ODO0DO0DO000O0ODOoO0noOon
OD000D0O0N9NSOOODOODOODOOODOOOO000000000ONT
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011 NOOOOOOooooooooooon (N7TO O
ooo Oo0o0oooooo ooo0ooooooa OO
N [ PLM, P My | 7 P | PLM, P My | T | —D)/T [ G-T)T
1600 1,1,0,0 2.82 2.82 1,1,0,0 2.82 0.001 0.000
3200 1,1,0,0 20.80 20.42 1,1,0,0 20.42 0.018 0.000
4800 1,4,8,1 56.29 68.73 1,1,8,1 64.00 -0.120 0.074
6400 1,4,8,1 100.63 128.04 1,2,8,1 125.24 -0.197 0.022
8000 1,6,8,1 148.40 | 267.81 1,3,8,1 222.86 -0.334 0.202
9600 1,6,8,1 180.22 | 421.43 1,4,8,1 340.86 -0.471 0.236
012 NOOOOOOooooooooooon (N6 1 [1[1)
ooo goooooooa go0ooooooa oo
N | P, My, P, My T | P,M, Py My | T [ (=TT | (7-T)/T
1600 1,1,0,0 2.84 2.82 1,1,0,0 2.82 0.007 0.000
3200 1,1,0,0 20.54 20.42 1,1,0,0 20.42 0.006 0.000
4800 1,1,0,0 66.55 64.75 1,1,8,1 64.00 0.040 0.012
6400 1,2,8,1 148.52 | 125.24 1,2,8,1 125.24 0.186 0.000
8000 1,3,8,1 270.78 | 222.86 1,3,8,1 222.86 0.215 0.000
9600 1,3,8,1 446.28 | 341.11 1,4,8,1 340.86 0.309 0.001
013 NOOOOOOOoooodooodono (NSGS I [1[7)
ooo ooooooooag oOoooooooa oo
N P, M1, Py, Mo T 7 P1, M1, Py, Mo T (r—T)/T | #-=T)/T
1600 1,1,0,0 2.84 2.82 1,1,0,0 2.82 0.007 0.000
3200 1,4,8,1 18.25 32.83 1,1,0,0 20.42 -0.106 0.608
4800 1,5,8,1 28.24 79.24 1,1,8,1 64.00 -0.559 0.238
6400 1,5,8,1 26.64 | 142.05 1,2,8,1 125.24 -0.787 0.134
8000 1,5,8,1 3.82 | 245.21 1,3,8,1 222.86 -0.983 0.100
9600 1,5,8,1 -49.66 | 374.49 1,4,8,1 340.86 -1.146 0.099

gboobobd N=6400D00D0ODODOODLODODOObLONDODODO
OO0ONSOODODOODOODOOooOooooboobobobobD 2000000
000 NSSOOODODODOOOODe0.8%00000000000 NDDODODODOO
00 10%00000000000000000000
012b)000000000000ON9, N8O OO0O0O00O0000000 124%,
15.83%0 2000 0000000000000 00000O0ONSSON7TOODOO
000 NOOOOOODODDOOON/OODDODOOODOO 471%00N6000
00000 309%00000000000000N600O0O0ONTODODODOOO
O000000000()N6eODODODOD0O0O0D0ODO0O0000O0O0D00O0O(2)NTO
000000000000 00DO0O0O0O0OD (DODODOoDooDoOOooboOoOo
O00)0000000ON7O00000O0OO0O0000O0O0OOODOOOO0OOOO
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N7 model -f=f- N7 model wff-
() 00000000 (h)DOOODOOOOO
012 NONSSOOOOOOOOOO
1600
s 350 T T T T
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2 1200 3K S Derived N-T model T(N) [N5S] ----------
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1=1 X M _1=4 N: Matrix Order
(a) 00000000 (N = 9600) () N-TOOOOOO

013 N SOODOODOO

goooboooboboob N>32000000000000000O0O0DOO
gbbodbboobboouoobbuodgbbuoobbuoobboobboob
O0ONSOOD0OO0OODOD0OD0O0OO0ODOOOOON=960000 1002000000
0000000000000 000D000O000O0n0 N=90000 10%00
goooo
O00000000O0NSOOODOO000O00O000000000 (O 13(a)d
gobbboogobbobuoooobobbuooooboboooobbobooon
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14 000000 GOOOO)
N-TOOODDDOO00O N D000 | 0000 [sec]

N9 | 400, 600, 800, 1200, 1600, 2400, 3200, 4800, 6400 22868.8
N5S | 400, 600, 800, 1200, 1600 1299.3
N5M | 400, 800, 1600, 3200, 6400 15264.6
N5L | 1600, 2400, 3200, 4800, 6400 22115.2

[S10NG; e, 3 BNe]

015 NOOOOOOOOOOO08000000 (NGM OO 0)

ooo ooooooooo ooooooooo oQ

N Pi, My, P>, Mo T 7 P1, My, Ps, Mo T (r=T))T | (+ =T))T
1600 1,1,0,0 2.82 2.82 1,1,0,0 2.82 -0.001 0.000
3200 1,1,0,0 20.81 | 20.42 1,1,0,0 20.42 0.019 0.000
4800 1,4,8,1 58.89 | 68.73 1,1,8,1 64.00 -0.080 0.074
6400 1,4,8,1 113.29 | 128.04 1,2,8,1 125.24 -0.095 0.022
8000 1,4,8,1 190.43 | 226.25 1,3,8,1 222.86 -0.146 0.015
9600 1,4,8,1 293.52 | 340.86 1,4,8,1 340.86 -0.139 0.000

0000000000000 0000000000000000000000
000000000000000

7.2 50000000000

013(b)0 N5SOODO P, =8 M, =50N-TOODOOOOOOOOOO
D000000000000013(b) 0000 NOODODOODOO T,<0000
0D0030000000000000000
00000000000000000000()NOOOOOOOOOOO0on
O0QNODOOOOODOOO0DO0O0O000000000000000000000
NODOODOOS000000000000000000000000000O
0000000000000000000O0ONOOOOOOOOOOONOOO
0000000000000000000000000000
014000000 NODOODODOODOODOOODOOO0OOO0DONSSO
N=4000 16000000000 500N5L0O N=16000 6400 O 50 0 N5M O [
D000O0 N=400064000 500000NSO00000000000O0
200000NMODDOOOOD4200000NLOO0OONIOOOODODO
0600000000
N9ON5SONSLOODOOOO00DO00DO00000O0D0DOON0O0oNoon
D000000D00ONSMONSLOOOOOOODOO 1500 1600 00N9
D000D0000O0D070NSSOOOODOOODOO 130000000
0140000000000 (-7)/7 000000000000 (r-T)/T
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016 NOOOOOOOOOO000000000 (NSLOMOM)
oDo 000000000 000000000 0o

N Py, My, P2, Ms T # Py, My, P2, Ms T (r=T))T | (+ =T))T
1600 1,1,0,0 2.74 2.82 1,1,0,0 2.82 -0.029 0.000
3200 1,1,0,0 20.49 | 20.42 1,1,0,0 20.42 0.004 0.000
4800 1,4,8,1 57.33 | 68.73 1,1,8,1 64.00 -0.104 0.074
6400 1,4,8,1 113.28 | 128.04 1,2,8,1 125.24 -0.095 0.022
8000 1,4,8,1 199.55 | 226.25 1,3,8,1 222.86 -0.105 0.015
9600 1,4,8,1 323.88 | 340.86 1,4,8,1 340.86 -0.050 0.000

OD000000 14()000000000000NSMOOONSLOOOOOO
ONYODOODOODOODOOO0OON=16000000 51.8%00 0%000000
0000000000050 000000000000NODOOOOOOOO
000000000000000000
014(b)000000000000NIOO0O0O00O00O00 124%00000
DO0ONSMOODOOO0O0O000 146%000000000000000000
000000000000 000000000000000NSLODOO000
000 105%00NO00000000000000000000000000
OO0 HPLOOOOOOOOOOOOOOOOO0O0000O000000000
O0O0NOOOOOOOOOOOO0OO0O000000000000000000
000000(1)00000 NODOOOOOO0ODOO0O00000000000
00000000000000000000((2)00000000000000
0O NOOODOOOOOODOOOOOOOO0OO0O00O00000000000000
(3)000 NOOODOOOOODOOOOOON-TOOODOOO0000000
00000000000 00000000000000000

73 000000O000OO0COOOO

000000 1000300000000000000000000000
00000000000000000000000 1700000000 Athlon
OPEOOODOOOOO P, MOPentium 110 PEOOOOCOOOO P, MO
Pentium- 110 PEOOOOOCOOO P, M;000ONDOOOOOONIOODO
000 N=4000 64000 90000000 Athlon D P-TO0OD0O 540000
0 Pentium- 110 P-TO00O0O0 0307000000000

Pentium- 1110 40000000000 PR=23400000N-TOOOOO
P TOO0OO0O0COOO0O0C0OO0O0O0OO0O00000O0000OSUBSTIOOOOO
000000000000000000000O0AthlonO 2180 O O Pentium-111
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1600 3200 4800 6400 8000 9600 1600 3200 4800 6400 8000 9600
N: Matrix Order N: Matrix Order
N9 model ---—-- N5M model --x7-- N9 model ---—--- N5M model --xz--
N5S model X N5L model X ‘ N5S model X NS5L model X ‘
(00000000 (h)DOOODOOOOO
014 NONSSONSLOODODOOOOOOO
17 HPLOOOOAOOMOOAMOMANM
ooo Athlon Pentium-I11 Pentium-I1 oodo oooad
N P My P> Mo P3 M3
SUBST1 4000 6400 1 106 | 104 | 103 | 108 | 106 66 7.800
SUBST2 4000 6400 1 106 1 103 | 108 | 106 57 6900
goooodo 16000 9600 | 0001 106 | 004 | 103 | 008 1 818 e

0 5200 0 O Pentium-I110 20689 00000 78000000

D0004000000000P-TOODOOOOOOOOOOOO 30000
N-TOOOO30000000000000000000000000000
0000000 Pentium-III0 P-TO0O0 Pentium-110 P-TO00000
0637000000000000000000 SUBST20000000000
D00D00000000000000Athlon O 2180 O O Pentium-IIT O 1993
0 O Pentium-I1T0 20689 00000 69000000

SUBST10SUBST20 000000000000 OOOON =1600,3200,4800,
6400,8000,9600 0 60 0 0000000000000 17(000)000000
D000 (81800)I000000D00000N0ONON0OON0OONOONO
D000000000000 1800190000

0150000000000 (7-7)/7 000000000000 (r=T)/T
D0000O0015()000000000000SUBSTIOOOOO 82.7% O
00 SUBST200000 31.5%0000N >48000000 17.3%000000
0000000000 NOOOODOODOOOOO0O000000000000
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018 NOOOOOOOOOOO00000000 (SUBST1OO)
oo

0oo 0ooooooooo FEGEEEEEE

N Py, My, Py, My, P3, M3 P 7 Py, My, Py, My, P3, M3 T (- —1T)/T | (+ —1)/T
1600 1,1,0,0,0,0 3.38 3.47 1,1,2,2,0,0 3.33 0.014 0.042
3200 1,4,0,0,8,1 24.64 33.49 1,1,2,2,0,0 18.33 0.344 0.827
4800 1,4,0,0,8,1 63.15 74.79 1,2,2,2,0,0 51.61 0.224 0.449
6400 1,5,4,3,8,1 108.98 | 129.54 1,2,2,2,0,0 104.65 0.041 0.238
8000 1,4,4,3,8,1 202.36 | 204.01 1,2,4,2,8,1 188.60 0.073 0.082
9600 1,5,4,3,0,0 314.81 | 385.58 1,3,4,2,8,1 292.77 0.075 0.317

019 NOOOOOOOOOOOO0O000000 (SUBST200[1)
0o

0oo ooooooooo FEGEEEEEE

N Py, My, Py, My, P3, M3 P 7 Py, My, Py, My, P3, M3 T (r—1T)/T | (+ -1)/T
1600 1,1,4,1,0,0 3.25 4.38 1,1,2,2,0,0 3.33 -0.023 0.315
3200 1,2,4,1,0,0 17.11 22.98 1,1,2,2,0,0 18.33 -0.067 0.254
4800 1,2,4,1,0,0 47.58 59.23 1,2,2,2,0,0 51.61 -0.078 0.148
6400 1,2,4,1,0,0 100.48 | 118.90 1,2,2,2,0,0 104.65 -0.040 0.136
8000 1,4,4,1,8,1 179.30 | 218.27 1,2,4,2,8,1 188.60 -0.049 0.157
9600 1,4,4,1,8,1 270.37 | 343.51 1,3,4,2,8,1 292.77 -0.076 0.173
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015 SUBSTIO20000000000
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0000000000000 000 1) 0000000000 O0OSUBSTL
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SUBST1O00O0O0O0O0O00DOO0OOO0ODOOOOOoSyBST200000000O0
O00000000000000000 P-TOOO (SUBSTHOOOOOOOO
O000000000000000 P-TOODO (SUBST2) 0000000000
gobooboogdn
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